Money Problems
LO – to multiply and divide money by 10

There are 10 children in Class Two. 
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1.  A drink costs £1.  How much would it cost in total for all of class two to buy a drink? 

2.  The teacher has £15 to spend on sweets for Class Two.  How much will the teacher spend on each child?  

3.  A sandwich costs £2.50.  How much will it cost in total to buy a sandwich for everyone in Class Two?  

4. The maths text books for Class Two cost £178 in total.  How much did each individual text book cost?  

5. The English text books for Class Two cost £238 in total.  How much did each individual text book cost?  

6. One Geography text book costs £13.40.  How much will it cost in total to buy a book for everyone in class two?  

7. A chocolate bar costs 50p.  Everyone in Class Two buys one.  What is the total cost?  

8. Class Two go to the fair.  The teacher spends £7 for the class to go on the waltzer.  How much does it cost for one child?  

9. While at the fair, Class Two buy candy floss.  For one child it costs 25p.  How much does it cost for the whole class? 

10. The coach to the fair costs £114.  How much does it cost for one child?  

